1) Alow-side DMOS switch is used to drive a 10 A inductive load. The power MOSFET is driven by a MIC4428

biased at 10V (Fig. 1), The MIC4428 driver has an output resistance, Ry of 6 0 Vdd=55V T l o b :*_' ]
Using the curves shown in Figures 2 and 3 T '—g - | Voa- 3 — W,
a) calculate ty ors b (Rg =33 Q) = 16 —
b) calculate (hc average switching loss in the power MOSFET transistor (f,,=100 kHz); +10V ‘% i
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2) The circuit shown in Figure 4 is used to drive a 10 A inductive load ( V,= 5V, Vge,, = 0.8V, V; =56 V, R, = 130 Q, N\ IRF214
R; = 240 Q, fs4=10 kHz). The current gain of Q; is 150
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c) The freewheeling diode (STTH1202) has an abrupt recovery with t, = t, (t, ~ 0) IR e i g “) 2222
Using the curves in Fig. 5, calculate the additional power loss in the MOSFET due to the diode reverse recovery . - = =
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With Reverse VDD'IL= 300w
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